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· Abstract:

1) The aim of the experiment:
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2) The method used: …………………………………………………………
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3) The main results are:
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From the graph:  
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· Results and Conclusion:

ρ    =   
   ±     

…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
PAGE  
4

_1234849570.unknown

_1235643720.unknown

_1235643785.unknown

_1234849525.unknown

